
CG020−7R, 1

CG020−1RBoJo−>MaMo
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λ /nm

uλ

logarithm. Ga, Go-Daten
log Ga =( logBo+ logLo)/2
log Go = logGa + 0,35
log [ Go, Ga, Bo, Lo ]

uλ=(λ − 550) / 50
logBo = −0,35[uλ−u470]

2

logLo = −0,35[uλ−u570]
2

Adaptation: λBL=520
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log(Gm)=−0,35
Gm=0,44
Schwelle
ta=0,00

CG020−2RBoJo−>MaMo
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λ /nm

uλ

logarithm. Ga, Go-Daten
log Ga =( logBo+ logLo)/2
log Go = logGa + 0,35
log [ Go, Ga, Bo, Lo ]

uλ=(λ − 550) / 50
logBo = −0,35[uλ−u470]

2

logLo = −0,35[uλ−u570]
2

Adaptation: λBL=520
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log(Gm)=−0,35
Gm=0,44
Schwelle
ta=0,00

CG020−3R520,570,620
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λ /nm

uλ

logarithm. La, Lo-Daten
log La =( logGo+ logRo)/2
log Lo = logLa + 0,35
log [ Lo, La, Go, Ro ]

uλ=(λ − 550) / 50
logGo = −0,35[uλ−u520]

2

logRo = −0,35[uλ−u620]
2

Adaptation: λGR=570
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log(Lm)=−0,35
Lm=0,44
Schwelle
ta=0,00

CG020−4R520,570,620

520 570 620

λ /nm

uλ

logarithm. La, Lo-Daten
log La =( logGo+ logRo)/2
log Lo = logLa + 0,35
log [ Go / La, Ro / La,  ]

uλ=(λ − 550) / 50
logGo = −0,35[uλ−u520]

2

logRo = −0,35[uλ−u620]
2

Adaptation: λGR=570

−3 −1  1  30

550400 500 600 700

−1

  

  0

  

  1
maximum
log(Lm)=−0,35
Lm=0,44
Schwelle
ta=0,00

CG020−5R470,520,570
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λ /nm

uλ

logarithm. Ga, Go-Daten
log Ga =( logBo+ logMo)/2
log Go = logGa + 0,35
log [ Go, Ga, Bo, Mo ]

uλ=(λ − 550) / 50
logBo = −0,35[uλ−u470]

2

logMo = −0,35[uλ−u570]
2

Adaptation: λBM=520
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log(Lm)=−0,35
Lm=0,44
Schwelle
ta=0,00

CG020−6R470,520,570

470 520 570

λ /nm

uλ

logarithm. Ga, Go-Daten
log Ga =( logBo+ logMo)/2
log Go = logGa + 0,35
log [ Bo / Ga, Mo / Ga,  ]

uλ=(λ − 550) / 50
logBo = −0,35[uλ−u470]

2

logMo = −0,35[uλ−u570]
2

Adaptation: λBM=520
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log(Lm)=−0,35
Lm=0,44
Schwelle
ta=0,00

CG020−7R420,470,520
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λ /nm

uλ

logarithm. Ba, Bo-Daten
log Ba =( logQo+ logGo)/2
log Bo = logBa + 0,35
log [ Bo, Ba, Qo, Go ]

uλ=(λ − 550) / 50
logQo = −0,35[uλ−u420]

2

logGo = −0,35[uλ−u520]
2

Adaptation: λQG=470
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log(Lm)=−0,35
Lm=0,44
Schwelle
ta=0,00

CG020−8R420,470,520

420 470 520

λ /nm

uλ

logarithm. Ba, Bo-Daten
log Ba =( logQo+ logGo)/2
log Bo = logBa + 0,35
log [ Qo / Ba, Go / Ba,  ]

uλ=(λ − 550) / 50
logQo = −0,35[uλ−u420]

2

logGo = −0,35[uλ−u520]
2

Adaptation: λQG=470
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log(Lm)=−0,35
Lm=0,44
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ta=0,00


